Hot air balloon

This task is about choosing how likely some outcomes are.

. Wright's Farm

—1 Tainui Farm |

A hot-air balloon landed on one of the three farms above.

a) The balloon was most likely to have landed on which farm(s)?

(A) Wright's farm

(B) Tainui farm

(C) Blakely's farm

(D) Blakely's or Wright's farm
(E) Any one of the farms

b) The balloon was least likely to have landed on which farm(s)?

(A)  Wright's farm

(B)  Tainui farm

(C) Blakely's farm

(D) Blakely's or Wright's farm
(E)  Any one of the farms

c) What are the chances the balloon landed on the Tainui farm?

) Certain
B) Good chance
C) Even chance
D) Poor chance
E) Impossible
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